Please solve explain this problem to me so I can solve it. Please explain as if to a child I do not know anything about this stuff. It would be greatly appreciated. (
4.
[image: image1.jpg]The Zaaine Gournet Company produces delicieus
dog treats for canines with discriminating tastes.
Management wants the box-filling line to be set so that
the process average weight per packet is 45 grams. To
make sure that the process is in control, an inspector
at the ena ofthe {llting line periodically selects a ran—
dom box of 10 packets and weighs each packet. When
the process is in control, the range in the weight of
each sample has averaged 6 grams.

A, Designan R- and an F-chart for this process.
B. The results from the last five samples of 10 packets are
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| Sample X R
1 44 9
L2 40 g !
|3 46 5 |
4 39 8 |
5 48 3





